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1/ 2008

Problem set #1
(Due on June 27, in class)
Kornkarun Kungpanidchakul

I Borrowing Constraints 
Consider the saving problem faced by a household who lives for two periods with the utility function:
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This household has an endowment in the first period of 1 unit and e units in the second period. The household has access to a capital market so it can either lend or borrow from this market with the borrowing constraint that it can borrow at most m units of consumption goods in the first period but it can lend as much as it wants. The interest rate is r>0. 

i) Ignore the borrowing constraint for now. Let S is the amount of saving/borrowing in the first period. Derive the demand for saving. Describe how it varies as e and r changes. Describe the region of (e,r) such that borrowing exceeds m, the borrowing constraint. 

ii) Fix e in a region such that, for some r, the borrowing constraint in binding. Derive the demand for saving for all interest rates, r. Is this function continuous? Is it differentiable?

II Human Capital Accumulation (in Lecture 1)
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